KQJ; KQ109; AK; unblock or count

Style: natural/aggressive .
1 level = Natural (5+ cards) 3rd and 5th Same Convention card
2 level = Natural (5+ cards) Attitude Attitude or count
Raise = Jump|ng°|s weak, jump-cue is better than preempt, 2NT = fit Count Attitude
4° 8/11 hcp

Responses: natural, only cue-bid is forcing 1+ round Other: highest from doubleton |
Reopening = suit 7/13, double 7/10 or 14+ any, INT = 11-14

PLAYERS: Porta F. - Carletti A.-Brusotti C.
14/17 balanced + or -
Responses: like on our opening AKxxx; AKQ; Ax AKx; AKXX SYSTEM SUMMARY

I

NATURAL 5 cardmajor

Reopening: 11/14 balanced (also without stop) QJIxx; OQx KOQxx; QJ10; QJ98;
Responses: Only cue is forcing J109; J108; Ix J109x; J1087x 14 = 2+ cards (if balanced 11/14)
Natural Natural 1le =10/21 4+ cards
. Natural Natural 1le =10/21 5+ cards
1-Suit: k (5/10 hcp) 6(+ d
uit: weak ( cp) 6(+) cards Even Even 1a =10/21 5+ cards
Odd Odd
Responses: 2NT or Cue = forcing 1+ round INT Opening: 15/17 Balanced
Reopen: 12/15 good 6 cards suit 2NT Opening: 20/21 Balanced
UDCA UDCA Odd = enc
Ghestem, JUMP = ask stopper .
UDCA UDCA Odd=enc 2 OVER 1 Response: FORCING GAME
Low = enc

Double = 15+ 2& =5/4+ v/

24 = Multi (1 major) 2%/24 = 5/4+ major/minor

2NT = 4a+long minor 3&/3¢ = nat+4v

Op. 2¢ =18/19 bal

Reopening: same direct, 24 (maybe only 5 cards)

2w response over 1 minor opening = 5-9 HCP 5+a/4+v

24 response over 14 =FG WITH SUPPORT IN ¢

Double = take out

24 response over 1& =INV WITH 5/6 &

Style : Natural

Jumps = over 2H/2S leaping Michaels

Responses: natural on 1¢/1v (only cue is F1+)

NT (2 or 3) = natural NT (4) = bicolor 5/5+ any

rare

Bids = natural

Reopening: aggressive

After overcall: with good hand and without the opponents suit

Vs 14 - DBL = majors (constructive) , INT = 5+/5+ major/minor

Negative; Responsive

Double in competition = good hand + (HCP but also distribution)

Penalty = only after: a) partner’'s opening bid 3%/e/v/a ect.

Redouble = 10+ new suit = Transfer

b) a redouble or a partner’s penalty double

Raise = NF — pre-empt jump in a new suit = limit (nat. or fit 4°)




PLAYERS: Porta F. - Carletti A.

Natural 10/22 HCP Balanced

1e/19/1a/INT = Natural; 24 = 2+& FG; 2= weak 6M or

l&-1e-2v=art or nat, 1&-1v-2e=art or nat,

1a 2 5¢ 11/14 INV+ 5+/5+ both majors; 2% = 5-9 HCP la-1a-2e=art or nat
5+a/4+v, 24=INV+ 5+& ; 3% = preempt 1s-1e/1w/1a-2NT= 15+ with support
Natural 10/22 HCP Balanced | 1¥/14/1NT = Natural; 24 = 2+& FG; 2= weak support ¢; Le-lv-2a=art or nat,_1¢-1o-2v=art or nat,
le 4 5% - Cn ) p . le-1v/1a-2%= F1l(natural or strong)
11/14 2% =5-9 HCP 5+a/4+v; 24=FG 4+e; 3% = inv with ¢ - .
le—1w/1a-2NT= 15+ with support
INT=NF; 2&/2¢ = FG; 2NT = 10-11 3/4 v; 3% =6-9 4w, 1w - 1a/INT - 2% = F1 (Gazzilli) 2 =drurv:34=6-9 4v"
lv 5 56 Natural 10/22 HCP 3¢=FG raise any shortness; 3NT/4&/4¢= 1% - 1a/INT - 2NT = 6-4min 16+ _Znt—{’o-li iy
void (& o &) 19 - INT - 3&/e = 5+-5+ 16+ -
INT=NF; 2%/2¢ = FG; 2NT = 10-11 3a or 6-9 44 ; 3&=INV 1a - INT - 24 = F1 (Gazzilli) 2 %=drUrv-34=6-0 4"
1a 5 6e Natural 10/22 HCP 6+v; 34=FG raise any shortness; 1a - INT - 2NT = 6-4min 16+ _2nt—{’0-11 iy
3NT/4%/4 = void (% ¢ ¥) 14 - INT - 3a%/e = 5+-5+ 16+ g
1IN s 15/17 balanced 24 = Asking ; 20/2v/2¢/2NT = trsf;,3%= puppet, 3¢=55 min
gf , 3v/3a=singleton
2+ =waiting or 5+v w/o 2H; 2¥ = positive 5+a; 24 = 5+/5+
28 0 64 F.G gxce_pt 2%-2¢-2NT minors; 2NT/3%/3 ¢ = HHxxxx or 7+ cards 2&%-2¢-2v=nat or 24+ bal
Any distribution or 22+ balanced .
(1H) with %/e/v
2v=4+a or special hands; 2a=trsf to 2NT (4+v or NT hands)
; 2NT = trsf to 3&; 3&%= puppet or 5+v/44; _
2¢ 2 de Balanced18/19 3e=5+a/4v: 3v/3a = shortness: 3NT = 2¢-2v-2NT =44
5+w/5+a forcing
2v 6 3a 5/10 HCP 2NT = asking
24 6 3 5/10 HCP 2NT = asking; 3#=5+v; 3v=6+&
2N no Balanced 20/21 34 = puppet; 3¢/3v= trsf, .3‘: both minors; 4+/4¢/4v/4a= 2NT-3%-3% = no majors; 2NT-3%-3NT = 5
slam try with 6+w/a/s/e
34 7 no Preempt(3-10) 3e=ask shortness
3e 7 no Preempt (3-10) Natural
3v 7 no Preempt (3-10) Natural
34 7 no Preempt (3-10) Natural
3NT 8 no solid Major 44 = bid in trasnfer, 4 ¢= bid 44/4ANT = RKCB
4a 7-8 no Preempt(3-10) Natural Cue-bid = 1%t and 2" control
4e 7-8 no Preempt(3-10) Natural Exclusion Blackwood
4v 7-8 no Preempt(3-10) Natural
aa 7-8 no Preempt(5-10) Natural
54 8 no Preempt Cue-bid




SS Porta-Carletti

le > 10

2v ( natural or strong with 6+&)  —2a =ask

2NT = 6+&% no 3¢ 18-21

3% =5&/4v >3 easksing —> 39¢/34/3NT=4¢/a/2-2

36 =6%/4v or6&4/5v 3w= asksing —> 3A/3NT=6&/4¥ singe /singa 4& =6/5v
3v =6+ 16-21 with 3 ¢

3A =6+ no3615-17

1 > 16>

2 SA— strong with support ¢ —3& ask

le 1w

2 ¢ (natural or strong with 6+& ) — 24 ask

2NT= 6+ no 3¥18-21

3% =5&/4¢ >3 easksing > 3v/34/3NT=v/a/2-2

3¢=6%/4¢ or6%/5¢ 3v= asksing —> 3A/3NT=6&/44 sing¥ /sings 4% =6/5¢
3v=6+% 16-21 with 3¢

3A =6+&% N0 3¢15-17

1 > 1v—>

2 SA— strong with support ¥ —3& ask

lee— 14

2¢ (natural or strong with 6+& ) — 2% ask

2NT==6+&% no 3418-21

3% =5&/4¢ >3 easksing > 3v/34/3NT=v/a/2-2

3¢=6%/4¢ or6%/5¢ 3v= asksing —> 3A/3NT=6&/44 singv /sings 4% =6/5¢
3v=6+&% 16-21 with 3

3A =6+&% N0 3AM15-17



1 > 160>

2 SA— strong with support & —3& ask

I 2

2 ¢=min. unbalanced no both minors
2v=min balanced or minors

28 =5+8%—4+v/4+ A

2NT = 6+ no sing 16-20

3% =6+ sing ¢/v 16-20
36=6+&%sing A

3v/34a/3NT = 4441 16-20 (a/v/#)

le—>1v

24 (natural or strong with 6+ ¢)—>2NT= ask

3% =5¢/4a >3 easksing > 3¢/3A/3NT=a&/v/2-2

3e=6¢/4M0r64/54 39= asksing —> 3A/3NT=6¢/44 sings /sing¥ 4& =6/54
3v=6+4¢ 16-21 with 3a

3A =6+¢ n034A18-21

3NT=6+¢ no3a15-17

1¢ 5 1v—>

2 SA— strong with support ¥ —3& ask

1¢ > 1>

2v — natural or strong with 6+ — 2nt ask

3% =5¢/4v >3 easksing > 39v/34/3NT=&/a/2-2

3e=6¢/4v or64/5v 3v= asksing —> 3a/3NT=64/49 sings /sings 4& =6/5v
3v=6+4¢ 16-21 with 3

3A =6+4¢ N03A18-21



3NT=6+¢ no 3415-17

1¢e > 16>

2 SA— strong with support & —3& ask

le > 1v/ila—>

2 &—> natural min or max FORCING 1 ROUND

le—>2&

2 ¢=min. unbalanced no both minors
2v=min balanced or minors

24 =5+0-4+v/4+ A

2NT =6+ no sing 16-20

3% =6+4 sing &/v 16-20
36=6+4sing A

3v/34/3NT = 4441 16-20 (a/v/%)

1v—> 1a/INT >

2% — natural or any strong hand —2 ¢ ask 8+ hcp
2v=5v4+&% 12-14

24 =18+ with 3+ao0r 5422 with 4 card in a minor
2NT=15-17 or 18-20 with 1 or 2 a

3% =15-175+v/4+a

34 =15-17 sing® with 4 ¢ or. sing¢ with 4%

3v =15-17 5+v

34 =15-1754422

3NT =15-17 54%22

4% =15-176v54



lv —> 2%
24 = MIN/MAX 5+v e4de

2v = MIN/MAX 5+v e4da

24 = 11-14 6+ v/balanced/ 5+¥ e 4+&
2SA =15+ balanced/ 6v e 4%

34 =15+ 5ve4ds

3¢ 15+ 5v-5&

3v=7v

34=11-14+ 5v-5&

14— INT—

2% — natural or any strong hand —2 ¢ ask 8+ hcp
2v=5a4+a 12-14

24 =18+ with 3+vor 5422 with a minor
2NT=15-17 or 18-20 with1or2 %

3% =15-17 5+a/4+v

3¢ =15-17 sings with 4 ¢ or. sing ¢ with 4%

3v =15-17 5+a

34 =15-1754422

3NT =15-17 54&%22

4% =15-17 645v

1a —>2&%

24 = MIN/MAX 5+A e d+e

2v = MIN/MAX 5+a e 4+v

2a = 11-14 6+ a/balanced/ 5+a e 4+ &
2SA = 15+ balanced/ 6a e 4 &

3% =15+ 5Aaedn

3¢ 15+ 54-5&

3v=7a4

34=11-14 54-5&



1

1

1

1 ¢ (opponents)

1v (opponents)

14 (opponents)

DBL=4+¥
lv =4+a
1a =take out no 4M

28 =4+4+ M

26 =6+ 9

29 =6+ A

24 =GF5+ &
2NT = natural
3&% =6+ pre

3¢ =5/5v/Ainv

DBL=4+4
1a =take out DBL without 44
INT=Nat 6-11 with stop
24 =5+¢)
26 =5 GF
2¥ =6+4 5/90r 12+
24 =5+ FG
2NT = natural

3&% =6+ pre

DBL=4/5%

1NT=Nat 6-11 with stop

2 & = take out DBL without 4%
2¢ =5v+GF

2v =5+ GF

24 =5+&% GF(if open 1¢)

2NT = natural

3% =6+ pre



1le 1v (opponents) DBL = 4+4
1a =take out DBL without 44

INT=Nat 6-11 with stop

2% =54 FG
24 =4/5¢ weak

2v =6+a 59 or GF
24 =5+% FG
2NT = natural
3% =6+ pre

3¢ =5/6 ¢ weak
le 1a (opponents) DBL=4/5%

INT=Nat 6-11 with stop

2% =5v+GF

24 =4/5e weak(if open 14)/5+9FG /6% INV (if open 1&)
2v =10+ BAL or 6+ inv

24 =59+ GF

2NT = natural

1a 2v =nat. FG

2A=nat

2NT = 3wvand balanced hand or 11+unbalanced
3¢ =nat.15+

34=nat.15+

3v=4% and minimum

3Aa=nat7a

3NT=5a-4%2-2 15+

4%=5M-49 sing &

46=5M-4v sing+¢

1¢ > 24=FGWITH ¢ SUPPORT



